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\A There are five numbers HCF of each.POSS‘ble pairis 4 a 4 and LCM of all the 5
b is 27720 What wnll be the product Of all the ﬁve numbers7
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\Q:Z:_ 5;; bells ring at intervals of 2, 4, 6, 8, 19_3:‘?_1?,§.LWUV91Y They

started r,-nging;;u]taneously How many \times, w1ll they rmg together in 30

minutes?
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Q3 Amit was to ﬁnd 9/10 ofa fraction, Instead of rqul_nm\png he divides the
fraction by 9/10 and the result obtamed was 13 / 70 greater than original
value. Find the fraction given to Amlt7
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- If due to 10% decrease in price of potatd, Hari can be{ jlore potato i
Rs. 100/-, then find the actual price of potato?
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\aQ{ If the mean age of cc combmed group of boys and girls is 18 years and the

mean of age of b boys is 20 and that of git girlis 16. Then what is the percentage 0
AREALDT 1S
boys in the group” —-"_‘ ' -
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WRita bought a cell phone and sold it to Gita at 10% profit. Then Gita
‘wanted to sell it back to Rita at 10% loss. What will be Rita’s position if she

agreed?
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Q7- Rs. X was deposited at simple_interest at a specific rate for three years.

Had It been deposited at 2% higher rate, it would have fetched Rs.360 more.

FindRs.X? — ———{_>— e
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% The difference between compound interest and simple mtcrcst for three
yéars at the rate onO% per annum lS im is 152. What is principal amount?




<

A\
% A man borrowed some money and agreed to pay off by paying Rs.3150/-

and at the end of first year and Rs. 4,410/~ atthe end of second year. Tf the
rate ofcompound interest is 5% Lis 5% per annum then what i |s the sum he
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\/{10- A policeman sees a chain snatcher at a distance of 50 meter. He starts )

chasing the chain snatcher who is running Wi-t_f_l a speed of 2 m/s, while the
policeman chasing him with a speed of % m/s. Find the distance covered by

—

the chain snatcher when he is caught by policeman.
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o P
\)@A car starts running with the lmtlal speed of 4 of 40 k.m. per hour with i its
speed increasing every hour by Skm/ h. How W many hours will it take to cover a

distance of 385 k.m.? e
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\f@Tﬁere are 30 boys and 60 girls in a class. If the average age of boys is 12
years and average age of girl 10 years, then find out the average age of whole

class? | By it
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%_4;& B & C enters into a Ertnergl_lip. A invests some amount at the

beginning. B invests double the amount of A after s

ix months and C invests

—_—

thrice the amount of A after 8 months. If the annual profit is RsSA,OOB/ -, then
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Q.15 A mixture of certain quantity of milk with 16L of water is worth Rs 0.75 1=

7 per litre, If gure_mi_lk is worth Rs :3::.25 er litre, then how much milk is there in
the mixture? \~
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